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1. Introduction

For FLC, increasing HCS_PRIO of MBMS layer in HCS was agreed at the RAN2 #44 meeting. [1] But it was FFS to handle high speed UEs in HCS. 
Thus, this document would like to propose a rule on FLC for high speed UE in HCS.

2. Discussion

The radio access network may be designed using HCS. The figure 1 is an example of HCS which is derived from 25.922. [2] Numbers in the figure 1 describe different layers in the hierarchy. Let assume the number also indicates the value of HCS_PRIO for each layer.
In the figure 1, we can see that FLC can cause wrong operation for a high speed UE. For example, if the UE is in the layer 2 which is PL for certain MBMS service, the UE shall change the current layer’s priority from 2 to 4 according to FLC rules in HCS. Then, if the UE detects itself as a high speed UE, the UE shall reselect to the lower priority layer than the current one. Since the UE considers the current layer’s priority as 4 instead of 2, the UE may reselect to the layer 3. 
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(1) the UE is in the layer 2

(2) PL for the MBMS service is decided as the layer 2

(4) the UE detect itself as a high speed UE

(5) the UE shall reselect the lower layer than layer 4

(3) the UE will change the current layer’s priority to 4

(6) the UE may reselect the layer with 3 WRONG OPERATION


Figure 1, Wrong operation for high speed UE due to FLC rule
Thus, we would like to propose FLC rule shall not applicable for the high speed UE in HCS. 
3. Conclusion

In this document, we propose that FLC rule shall not applicable for the high speed UE in HCS. If agreed or decided, we propose to reflect it to the TS 25.304. 
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